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Total No. of Printed Pages: 03 

SUBJECT CODE NO: - AA-1570 

FACULTY OF HUMANITIES 

B.A F.Y (SEM-I) (CBCGS) (Pattern 2022) 

Examination November / December - 2023 

Sociology - II Indian Social Institution 

 

[Time: 1:30 Hours] [Max. Marks:40] 

Please check whether you have got the right question paper. 

N. B 1) All questions are compulsory. 

 2) Use blue or black pen only. 

 3) Use pencil for diagram. 

 4) Use of any sign attracting attentions is prohibited. 

 १) सर्व प्रश्न सोडवर्णे आर्श्यक आह.े 

 २) फक्त विळ्या र् काळ्या पेिचाच र्ापर करार्ा. 

 ३) आकृत्यासाठी पेवससलचा र्ापर करार्ा 

 ४) कोणतेही लक्षर्ेधक र् साांकेवतक खुण करण्यास प्रवतबांध आह.े 

 

Q.1 A) Answer multiple choice question. (Attempt All) 

1) Social Institution is a set of ______ Norms. 

a) Cultural      b) Social       c) Institutization    d) None of the above 

 

2) Complete quantitative pattern formed by the combination of institutions 

is a society is called an ______. 

a) Status role complex             b) Institution complex  

c) Group – sub group              d) Association 

 

3) The Hindu marriage act was passed in _________ year. 

a) 1961               b) 1984                c) 1955               d) 1986 

   

4) Divorce is called _______ in Muslim religion. 

a) Idat                b) Mehar               c) Dahej             d) Talak 

 

5) Child Marriage was prohibited by Law under the act of _________. 

a) 1929              b) 1955            c) 1921            d) 1978 

 

खालील बहु पयावयी प्रश्न सोडर्ा. (सर्व अविर्ायव) 

१) सामाविक सांस्था म्हणिे _________ वियमिाांचा सांच झोय. 

अ) साांस्कृवतक        ब) सामाविक     क) सांस्थीकृत       ड) या पैकी िाही 
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२) समािातील सांस्थाचे वमळूि िे एक िटील प्रमाणात्मक _________ प्रवतमाि तयार होते त्याला _______ 

असे म्हणतात. 

अ) दिाव भवुमक- सांकुल                  ब) सांस्था सांकुल  

क) गट उपगट                              ड) मांडळ  

 

३) वहांद ूवर्र्ाह कायदा __________ साली पाररत झाला. 

अ) 1961               ब) 1984                क) 1955               ड) 1986 

 

४) मसु्लीम धमावत वर्र्ाह वर्च्छेदिाला ___________ म्हणतात. 

अ) इदत्            ब) मेहर             क) दहिे             ड) तलाक 

 

५) ________ या कायद्यािसुार बालवर्र्ाहास प्रवतबांध करण्यास आला. 

अ) 1929              ब) 1955            क) 1921            ड) 1978 

 

B) Answer in a sentence. (Attempt All) 

1) According to Hindu religion what is mean by marriage. 

2) State the types of family on the basic of marriage. 

3) Reproduction and child rearing are function of which social Institutions. 

4) After which word is uttered three times divorce is considered in Muslim 

religion. 

5) What is Matriarchal family. 

एका र्ाक्यात उत्तरे वलहा. 

१) वहांद ूधमाविुसार वर्र्ाह म्हणिे काय? 

२) वर्र्ाह या आधारार्रील कुटुांबाचे प्रकार साांगा. 

३) प्रिोत्पादि र् बालसांगोपि ह ेकोणत्या सांस्थेचे कायव आह.े 

४) कोणत्या शब्दाचा तीि र्ेळा उच्चार केल्यािांतर मसु्लीम धमावत वर्र्ाह वर्च्छेद झाल्याचे मािल ेिाते. 

५) मातसृत्ताक कुटुांब म्हणिे काय? 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

05 

Q.2 Explain concept / terms/ units/ event. (any two) 

(Word limitation minimum 60 for each answer) 

1) Social Institutions. 

2) Matriarchal family. 

3) Muslim Marriage as a social contract. 

4) Hindu Marriage. 

सांकल्पिा / सांज्ञा / घटक/ घटिा स्पष्ट करा. (कोणतेही दोि) 

(प्रत्येक प्रश्नास वकमाि शब्द मयावदा ६०) 

१) सामाविक सांस्था  
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२) मातसृत्ताक कुटुांब  

३) मसु्लीम वर्र्ाह एक सामाविक करार. 

४) वहांद ूवर्र्ाह. 

 

Q.3 Attempt answer in short. (Any two) 

(Word limitation minimum 60 for each answer) 

1) Elaborate the function of Social Institutions. 

2) What reasons can a Muslim Women Divorce. 

3) State the any four characteristics of joint family. 

4) State the merit and demerit of Nuclear family. 

थोडक्यात उत्तरे वलहा. (कोणतेही दोि) 

(प्रत्येक प्रश्नास वकमाि शब्द मयावदा ६०) 

१) सामाविक सांस्थेची कायव वर्शद करा. 

२) मसु्लीम स्त्री कोणत्या कारणािे घटस्फोट घेर् ूशकते. 

३) सांयकु्त कुटुांबाची कोणतीही चार र्ैवशष््टये साांगा. 

४) वर्भक्त कुटुांबाचे गुण – दोष साांगा. 

 

10 

Q.4 Answer in detail. (Any one) 

(Word limitation minimum word 200) 

1) State the Definition of Social Institutions and Explain its characteristics. 

2) Write the definition of marriage and Explain the aims of marriage Institutions. 

सवर्स्तर उत्तरे वलहा. (कोणतेही एक) 

(शब्द मयावदा २०० शब्द) 

१) सामाविक सांस्थेची व्याख्या साांगूि वतची र्ैवशष््टये स्पष्ट करा. 

२) वर्र्ाहाची व्याख्या वलहा आवण वर्र्ाह सांस्थेची उवदष्ट ेस्पष्ट करा. 
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